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QUESTION 1

Input to a SORT routine requires the starting position of each field to be sorted. Which of the following
calculates a value of 5 for field B?

DCL1S,

2 A CHAR(4),

2 B BIN FIXED(31);

A. POINTERDIFF(ADDR(S), ADDR(S.B))

B. POINTERDIFF(ADDR(S.B), ADDR(S))

C. POINTERDIFF(ADDR(S.B),ADDR(S)) + 1

D. POINTERDIFF(ADDR(S), ADDR(S.B)) + 1

Correct Answer: C

QUESTION 2
Which of the following structures will NOT contain padding btes if the PL/I default for alignment is applied?

A.DCL 1 A,2 B FIXED BIN (31),2 C CHAR (2) VAR ALIGNED,2 D FIXED BIN (31),2 E FIXED DEC (1),2 F CHAR (3)
YAP;

B. DCL 1 A ALIGNED,2 B FIXED BIN (31),2 C CHAR (2) VAR,2 D FIXED BIN (31),2 E FIXED DEC (1),2 F CHAR (3)
VAR,

C.DCL 1 A,2 B FIXED BIN (31),2 C CHAR (2) VAP,2 D FIXED BIN (31),2 E FIXED DEC (1),2 F CHAR
(3) VAR ALIGNED;
D. DCL 1 A2 B FIXED BIN (31),2 C CHAR (2) VAR,2 D FIXED BIN (31),2 E FIXED DEC (1),2 F FLOAT DEC (6);

Correct Answer: A

QUESTION 3

A file containing FIXED BINARY fields that is written by a PL/I program on Intel Architecture is to be read by PL/I
programs on Intel Architecture and on the mainframe. What must be changed in the program which reads the file on
Intel architecture, if anything, for it to work correctly when it runs on the mainframe?

A. The program must declare the FIXED BINARY fields with the attribute NATIVE.

B. The program must declare the FIXED BINARY fields with the attribute LITTLEENDIAN.

C. The program must declare the FIXED BINARY fields with the attribute BIGEND IAN.
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D. Nothing needs to be changed.

Correct Answer: B

QUESTION 4

Which of the following is NOT part of the PL/I code review?

A. Training course for the program\\'s author

B. Attendance of people with technical expertise

C. Decision whether the review object is a appropriate solution
D. Documentation of results of the review

Correct Answer: A

QUESTION 5
Which of the following is a best practice to make debugging easier?
A. Have the calling program test the return code after the call.

B. Use a variable updated with the program name.

C. CALL PLIDUMP(\WTFCHABW \\'Spot Dump\\"); at key points in the program logic.

D. Use the runtime option STORAGE(00,,00,0K)

Correct Answer: C
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